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Math 1

Unit 1.9 Examples of Solving Compound Inequalities
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Solve each compound inequality and graph its solution.  Give the interval notation.

1)  
k
7

 < -1 or k - 1 ³ -6

-12 -10 -8 -6 -4 -2 0

2)  n - 7 £ -9 or 
n
2

 > 2

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9

3)  2r + 9 > -3 or -r + 8 > 15

-12 -10 -8 -6 -4 -2 0

4)  6x - 7 £ -55 or 4x + 8 ³ 24

-12 -10 -8 -6 -4 -2 0 2 4 6 8

5)  -2 + 4x £ -7x + 9 or 2x + 10 £ 4x - 4

-2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12

6)  4n - 7 ³ -3n - 7 or -4n + 8 ³ 9 - 3n

-5 -4 -3 -2 -1 0 1 2 3 4 5 6 7



©[ m2I0k2I0y uKpuBt\ap VSeoEfctnwMawrRen KLBLaC^.e g \AUlPlq frBiOgHhptKsy erTelsCeiravmeZdj.D ^ yMSaTdneB Zwhi`tmhR jINnEfeiVnpiMtZey vAZlhgJeRbHrCaw U1R.

Worksheet by Kuta Software LLC

-2-

7)  
x
3

 ³ 0 and 7 + x < 14

-4 -3 -2 -1 0 1 2 3 4 5 6 7 8

8)  8 < k + 8 £ 18

-2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12

9)  -1 < a + 4 £ 5

-10 -8 -6 -4 -2 0 2

10)  9b - 7 > -52 and 6 - 3b ³ -9

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

11)  5p - 8 < 6p + 6 < -10 + 4p

-14 -12 -10 -8 -6 -4

12)  5a + 6 > -4 + 3a and 7a - 8 < 1 - 2a

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4
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Solve each compound inequality and graph its solution.  Give the interval notation.

1)  
k
7

 < -1 or k - 1 ³ -6

-12 -10 -8 -6 -4 -2 0

k < -7 or k ³ -5

2)  n - 7 £ -9 or 
n
2

 > 2

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9

n £ -2 or n > 4

3)  2r + 9 > -3 or -r + 8 > 15

-12 -10 -8 -6 -4 -2 0

r > -6 or r < -7

4)  6x - 7 £ -55 or 4x + 8 ³ 24

-12 -10 -8 -6 -4 -2 0 2 4 6 8

x £ -8 or x ³ 4

5)  -2 + 4x £ -7x + 9 or 2x + 10 £ 4x - 4

-2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12

x £ 1 or x ³ 7

6)  4n - 7 ³ -3n - 7 or -4n + 8 ³ 9 - 3n

-5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

n ³ 0 or n £ -1
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7)  
x
3

 ³ 0 and 7 + x < 14

-4 -3 -2 -1 0 1 2 3 4 5 6 7 8

0 £ x < 7

8)  8 < k + 8 £ 18

-2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12

0 < k £ 10

9)  -1 < a + 4 £ 5

-10 -8 -6 -4 -2 0 2

-5 < a £ 1

10)  9b - 7 > -52 and 6 - 3b ³ -9

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

-5 < b £ 5

11)  5p - 8 < 6p + 6 < -10 + 4p

-14 -12 -10 -8 -6 -4

-14 < p < -8

12)  5a + 6 > -4 + 3a and 7a - 8 < 1 - 2a

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4

-5 < a < 1


